Soluzioni  [ A ]
1.

C.E. 
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f ( - 1 ) = π /2

per x → 0    f’ ( x ) → -∞   punto a tg verticale  ;   per x → -1±    f’ ( x ) → 
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Deve essere 
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3.

Continuità
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La funzione si prolunga per continuità in 0 con il valore 1.

Derivabilità
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Il punto 0 è un punto angoloso.

Soluzioni  [ B ]

1.

C.E. 
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f ( 1 ) = π /2

per x → 0    f’ ( x ) → +∞   punto a tg verticale  ;   per x → 1±    f’ ( x ) → 
[image: image21.wmf]m

∞   cuspide 

GRAFICO

[image: image22.png]



2.

C.E.    x 
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Deve essere 
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3.

Continuità
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La funzione si prolunga per continuità in 0 con il valore 1.

Derivabilità
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Il punto 0 è un punto angoloso.
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